G3-Mi-Lesson 21

Mia measures the lengths of three pieces of wire. The lengths of
the wires are recorded to the right.

a. Estimate the total length of Wire A and Wire C. Then,

find the actual total length. ,/Z

I can round the lengths of all
the wires to the nearest ten,

_)

N
Z I'can add the rounded lengths of Wires A and C to

Estimate: 60 ¢m + 50 cm = 110 cm find an estimate of
ate o

their total length.

M

J
Actuol: 63 cm ¥ A
N

62

Fom = 112 cm Lcan U5 Mental math to solve this problem. i
' 0 not have to write it out vertically. i can break
apart 63 as 62 and 1. Then | can make the hext

tento 50, ang then add the 62.

50

J

The totel length is 112 om.

b. Subtract to estimate the difference between the total len

8th of Wires A an ' ;
Wire B. Then, find the actual difference. Model the prob @nd C and the length of

lem with a'tape diagram.
Estimate: 110 cm — B0 cm = 30 cm

Actugl: 112 cm —75cm =37 ¢cm

Wire A + Wire C 112 cm From the tape diagram, | see that |
: need to solve for an unknown part.
Wire B 75 om g
L v j
fom
1012 I €an write this prablem
N&cm vertically. | can unbundle 1 ten
_ for 10 ones. 1 can rename 112
The difference is 37 cm. = 75¢cm as 10 tens and 12 ones, Then |
37 cm am ready to subtract,
36 {esson 21: Estimate sums and differences of measy, : D
solve mixed word problems. rements by rounding, and then EUREM
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